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And certainly this case of Max51 N is 2> for each 787,

OVERVIEW
Our X3 here contends that the 71wn» should state the 17 of naw nNAwWw and we
will know for sure that MaR%2 naw will be 798972 %98 2°°17. From the text of
the X3 it seems that the intention of the X713 is that the 71wn should not
state at all the case of mdx>» naw. However, mooin argues that this may
mislead us to think that max5» naw will be 21 not only for 7oX%1 5 but
also for each naw, as i1s the case of naw niaxw. This would be in direct
contradiction to 727 who maintains that N2X?» DAY is not Naw 98 2°°1.

— MIYNA HH9 N*Y NDT 919995 'va RY 919 XN
Here too' it is not the intention of the X713 to say that the case of y717

naw X17w should not be mentioned at all in the 7w, for we would know that
it is 7OX%1 958 211 from the fact that our 71wn has already taught us that (even) naw naw
is 7OKP1 9oR 211 and certainly MIORYM DA NAW PTT is 7ORDM 90K 2n, nevertheless we
cannot say that this is the intention of the X33 —

— DAY NAY Y5 DY ) 29N NN MN 19 ONT
for if you will maintain that this is so, namely that the mawn» should only
state that P2W N is 79871 798 211 and I would know with certainty that
naw NN NPRYA DAY is 7R 9OX 21, nonetheless there would be a
difficulty, for I would assume, if the case of MaX?» Naw were omitted, that
it would have the same ruling as n2w naw, which is 217 not only for each
7oX9n, but also for each “naw, and I would assume that Maxn naw is also
27 for each naw, since we derive the rule of Maxo N from *naw nuw

— MINI97 129D 19 199N

However this is not true according to 7729 in N> NdO», who is of the
opinion that 712977 NMN2W2 MR DAY, is 21 (only) for each 72X%1 once, not for each naw

! See previous?ax 11"7 'on (and "0 7).

? See previous *1n°2 77 '0n how we assume that 2w MW is NAW 93 5w (7K1 IK) 277,

3 This assumption would seem to follow the interpretation of the "1 in the previous *1n®> 7"7 '010, who
maintains that at this point the 71wn would state clearly that naw naw is naw 93 5w 79K 98 1m0, and it
would therefore follow that Max%» naxw which is derived from naw naw is also NAw 9oX 21, since the 7Iwn
states so explicitly; however according to the s'X"2w" interpretation that naw 95 ¥ is not explicitly stated,
one may maintain, perhaps, that even though naw naw would be naw 93X 2>°11, however MR NAY may not
be ¥"¥¥1 ,naw Hax 2°n. See footnote # 3 in 10%H 73"7IN.
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that he transgressed”.

How then can the X3 insist that it say only naw naw and not MaX?» nNaw, when their
laws are different; naw N is AW 5 YW 79R%1 29K 2°°11 while MR N is 21 only 9aK
79857, but not for AW 9.

mooIn therefore concludes that the intention of the X713 is not that the case of NaR%» NawW

should be completely omitted, -
$NAY DO HY 29N 1IN NAY NINY ¥11N NIPINN NA3 9INPT NIN

Rather the intention of the X721 is that first we should state the case that
naw naw is (naw 9o Hw) mox9n 9o8 2n, and then in order to prevent any
misconception concerning MaR?» NAAY, to state another clause, namely that
one who knows that today is naw, but was mMaX?m2 AW, so even though he
is 7ORD1 9oR 2°°1, which we know for sure since N2W N is NIORHN DOR 2°m,
nevertheless it is different than n2w naw for in the case of MaxY1 NAY he is
not 2°°11 for each naw, but only for each 7a8M.

Summary
When the X3 states *Xi7 w'"21 naw p°y v11°7 °an°h the XM meant to say that

it is not necessary to state the 211 of MoX51 naw for this we can infer from
naw naw, however it would be necessary for the 71wn to state the limitation
of this 21’11 (according to 1127), that he is not naw o8 2°°11.

Thinking it over
1. Can we differentiate between how n901n interpreted the X7 w'"21 in '01n
aK 11", to the way mooin interprets this X7 w"5?°

2. Which is the more logical of the two: a) max?» naw should cause also
mnawh p12°m, or b) naw naw should also cause MaRM P17°m

* The %"w i contends that 727 maintains that M2X%» NWW is not Naw 2% 21 only according to the X1p0n of
our X3, where N2w N3 is also not 7oK1 2oK 2n, but since at this point the X773 is of the opinion that
naw N is 7IRPM 7oK 21, then 727 may concur that just like naw naw somehow creates NOR?1 P12 to be
TOR91 DIR 271, s0 too MIXRYM N may create MNAWH P17°n0, that he is nNaw 958 21, See R"wAnn who refutes
the 2"w1nn, and the X1 *17p who supports the s'2"wann contention (see ‘Thinking it over’ # 2). "1 “n
[alymin} &

> See footnote # 6 in 2K 7"7n.

® See ox1 1p.
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